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User ages calculation

As part of the questionnaire, we collect the following data points to calculate children’s user age:
. The real current age of the child

. That they use at least 1 app/site from the list we have in our
guestionnaire

. That the child has their own profile on the app(s)/site(s) they use

To determine what age they have on their profile for the apps/sites they use — we then calculated their user age with the following data
points:

. The real current age of the child
. How long they have had a profile on the site/app
. What age they used when setting up the account or, if they had changed their DOB, what age they have changed their profile to

now
. A range of scenarios were considered and applied depending on the answers provided by children
. All scenarios considered are included in this pack

There are a list of caveats to take into consideration when reviewing our calculations — please refer to the main chart pack for these
which you can find on our


https://www.ofcom.org.uk/research-and-data/online-research/keeping-children-safe-online

Scenario 1- A child over 13 that said they entered their actual age at set up

Scenario 1

Length of time on DOB at set up (Q8) Actual age of child Assumption USER AGE Example
profile
IF DOB at set up e g T J(;)etis 1f7t,).htehen;ered hi;lactual
N/A was their actual 13-17 N/A g ate ot birth when profile was

age

age

set up - therefore, his user age
is 17.




Scenario 2 - A child under 13 that said they entered their actual age at set up
(but we know this can’t be the case, so we assumed they entered 13 at set

up)

Scenario 2 (1)

Length of time on DOB at set up (Q8) Actual age of child Assumption USER AGE Example
profile
Child cannot have put Joe is 9, he said he entered his actual date of
|f DOB at set Up actual age as their DOB User age - birth when profile was set up - which can't be

at set up, therefore

true as they have to have a minimum user age

Scenario 2 (2)

Scenario 2 (3)

Scenario 2 (4)

Less than a year was their actual Under 13 assume they put age 13, 13 plus length of of 13. We therefore assume his joining age is
age Assume length of time time on pr0f||e He's been on the platform for 0 years;
on profile as 0 years therefore, his user age is 13.
f Child cannot have put U e e el !
Between 1_5 I DOB at set Up actual age as their DOB el age - true as they have to have a minimum user age
was thEir aCtuaI Under 13 at set up, therefore 13 pIUS Iength Of of 13. We therefore assume his joining age is
ears ; ) 13.
y age assume they put age time on prOflle He's been on the platform for 3 years;
13. therefore, his user age is 16.
Child cannot have put Joe is 9, he said he entered his actual date of
|f DOB at set Up actual age as their DOB User age - birth when profile was set up - which can't be
) at set up, therefore true as they have to have a minimum user age
6+ years was their actual Under 13 assume they put age 13 13 plus length of of 13. We therefore assume his joining age is
’ . . 13.
age Assume length of time time on prOﬂle He's been on the platform for 6 years;
on profile as 6 years therefore, his user age is 19.
Joe is 9, he said he entered his actual date of
; Gl GEer R e a8 they have 5 have a inimum user age
I DOB at set Up actual ageas their DOB User age = of 13. We therefore assume his joining age is
Don’t know was their actual Under 13 at set up, therefore 13,
13 He doesn’t know/can’t remember how long

age

assume they put age
13.

he has had the profile, therefore we assume
minimum of 0 years, so his user age is at least
13.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (1)

Scenario 3 (2)

Scenario 3 (3)

years

assume they put age
13.

time on profile

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile
Child cannot have put Joe is 9, he said he entered a date of birth
under 13 as their DOB at User age - 13 which.made him 11 when profile was set up -
set up, therefore assume whlc.h can't be true they have to have a
Less than a year 10-12 Under 13 l;, f 13 pIUS Iength Of minimum user age of 13. We therefore
they put age 13. . . assume his joining age is 13.
Assume length of time time on pr0f| le He's been on the platform for 0 years;
on profile as O years. therefore, his user age is 13.
Child cannot have put ::)ehis 9,:e;.aid he err:tered a]\(.::late of birth
under 13 as their DOB User age - 13 whic .ma ellm 11 when profile was set up -
Between 1-5 which can't be true they have to have a
10-12 U nder 13 at set up, therefore pIUS Iength Of minimum user age of 13. We therefore
ears . . assume his joining age is 13.
y assume they put age time on profl Ie He's been on the platform for 2 years;
13. therefore, his user age is 15.
Child cannot have put Jog is 13, he f.aid he entered a' date of birth
) User age - 13 which made him 12 when profile was set up -
Between 1-5 under 13 as their DOB which can't be true they have to have a
10-12 13-17 at set up, therefore plus length of minimum user age of 13. We therefore

assume his joining age is 13.
He's been on the platform for 1 year,
therefore, his user age is 14.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (4)

Scenario 3 (5)

Scenario 3 (6)

Scenario 3 (7)

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile
Child cannot have put
: _ Joe is 9, he said he entered a date of birth which
ur;der lfhas f:elr DOB at User age - 13 made him 11 when profile was set up - which can't
set up, erejore assume be true they have to have a minimum user age of 13.
6+ yea rs 10'12 U nder 13 they put age 13. plus Iength Of We therefore assume his joining age is 13.
. . . He's been on the platform for 6 years; therefore, his
Assume /ength Of time tl me on prOfI Ie user age is 19, which equates to 18+.
on profile as 6 years.
Child cannot have put
: _ Joe is 17, he said he entered a date of birth which
untder 1;;)705 ;helr DOSat User age - 13 made him 11 when profile was set up - which can't
set up, tnerejore assume be true they have to have a minimum user age of 13.
6+ yea rs 10'12 13'17 they put age 13. plus |ength Of We therefore assume his joining age is 13.
. t He's been on the platform for 6 years; therefore, his
Assume Iength Of time Ime user age is 19, which equates to 18+.
on profile as 6 years.
Child cannot have put Joe is 9, he said he ent?red a date of birth which
under 13 as their DOB User age = at b?::i?:zylﬁavzsig E;?/zli ﬁﬁir:pus:rh;cgicoafnlg
DO n't kn ow 10-12 U nder 13 at set up, therefore We therefore assume his joining age is 13.
th t |ea st 13 He doesn’t know/can’t remember how long he has
assume ey put age had the profile, therefore we assume minimum of 0
13. years, so his user age is at least 13.
Child cannot have put Joe is 15, he said he entered a date of birth which
. made him 11 when profile was set up - which can't
under 13 as their DOB User age = at be true they have to have a minimum user age of 13.
Don't knOW 10-12 13-17 at set up, therefore We therefore assume his joining age is 13.

assume they put age
13.

least 13

He doesn’t know/can’t remember how long he has
had the profile, therefore we assume minimum of 0
years, so his user age is at least 13.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (8)

Scenario 3 (9)

Scenario 3 (10)

Scenario 3 (11)

years

of time on profile

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile
_ Joe is 9, he said he entered a date of
Assume length of time User age = age at birth which made him 14 when profile
Less than a year 13-17 Under 13 file as 0 set up plus length || wassetup. He's been on the platform for
on projile as U years of time on profile 0 years; therefore, his user age is at least
14.
_ Joe is 15, he said he entered a date of
Assume length of time User age = age at birth which made him 16 when profile
Less than a year 13-17 13-17 fil 0 set up p|us |ength was set up. He's been on the platform for
on projile as U years Of time on profile 0 years; therefore, his user age is at least
16.
User age = age at Joe is 9, he said he entered a date of
Between 1-5 13-17 Under 13 set u lus lensth birth which made him 14 when profile
years PP g was set up. He's been on the platform for
of time on profi|e 2 years; therefore, his user age is 16.
User age = age at Joe is 15, he said he entered a date of
- birth which made him 16 when profile
Between 1-5 13-17 13-17 set up plus length

was set up. He's been on the platform for
2 years; therefore, his user age is 18.




Scenario 3 - Children who entered a DOB at set up which made their social
media profile have a user age that is older than their actual age

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile
_ Joe is 12, he said he entered a date of
Assume length of time User age = age at birth which made him 13 when profile
Scenario 3 (12) 6+ years 13-17 Under 13 on profile as 6 years set up plus length || wassetup. He's been on the platform for
P Y f . f| 6 years; therefore, his user age is 19,
of time on protiie which equates to 18+.
_ Joe is 15, he said he entered a date of
Assume length of time User age = age at birth which made him 16 when profile
Scenario 3 (13) 6+ years 13-17 13-17 n profile as 6 year. set up plus length || wassetup. He's been on the platform for
20 [ 08 @ JEelis f . f| 6 years; therefore, his user age is 22,
of time on protiie which equates to 18+.
Joe is 9, he said he entered a date of
User age = at birth which made him 13 when profile
g ’ was set up. We don’t know how long he
Scenario 3 (14) Don’t know 13-17 Under 13 least age at set has been on the platform, so we assume
up user age matches his age at set up which
is at least 13 in this example.
User age = age at
set up if this is Joe is 13, he said he entered a date
older than actual of birth which made him 16 when
age profile was set up. We don’t know
Scenario 3 (15) Don’t know 13-17 13-17 how long he has been on the
OR platform, so we assume user age
User age = actual matches his age at set up which is at
age el 9o clldlar least 16 in this example.
than age at set up




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (16)

Scenario 3 (17)

Scenario 3 (18)

Scenario 3 (19)

years

as 18 years

least 18

Length of time on DOB at set up (Q8a)  Actual age of child Assumption USER AGE Example
profile

Assume length of time bJ.oehis 5:1,. hhe sai;l hE.entlesredha date 1?|f

on pro I/e as O, assume User a e = at irth which made him when protile
Less than a year 18+ Under 13 Dng t set 18 g was set up. He's been on the platform for
Bl B iy 0 least 18 0 years; therefore, his user age is at least

years 18.

Assume length of time é«f)ehis 1:., :e saidd hhe. enltgre;i1 a datef.c|>f

. User age = at irth which made him 18 when profile
Less than a year 18+ 13-17 on gmﬁle as 0, assur;e g was set up. He's been on the platform for
DOB at set up as 1 least 18 0 years; therefore, his user age is at least

years 18.

Joe is 9, he said he entered a date of

_ User age = at birth which made him 18 when profile
Between 1-5 18+ Under 13 Assume ?;)B at set up g was set up. He's been on the platform for

years as toyears least 18 2 years; therefore, his user age is 20

which equates to 18+.

Joe is 15, he said he entered a date of

_ User age = at birth which made him 18 when profile
Between 1-5 18+ 13-17 AESUHIE LIO1E G S 07D g was set up. He's been on the platform for

2 years; therefore, his user age is 20,
which equates to 18+.




Scenario 3 - Children who entered a DOB at set up which made their social

media profile have a user age that is older than their actual age

Scenario 3 (20)

Scenario 3 (21)

Scenario 3 (22)

Scenario 3 (23)

as 18 years

least 18

Length of timeon  DOB atsetup (Q8a)  Actual age of child Assumption USER AGE Example
profile
Assume length of time Joe is 9, he said he entered a date of
. User age = at birth which made him 18 when profile
6+ r 18+ Under 13 B0 (AR €5 B B, 8 was set up. He's been on the platform for
years DOB at set
gootnc LR e least 18 6 years; therefore, his user age is 24,
as 18 years which equates to 18+.
Assume length of time Joe is 15, he said he entered a date of
. User age = at birth which made him 18 when profile
6+ 18+ 13-17 e g lie 06 6y, g was set up. He's been on the platform for
HERIrS DOB at set
@sStne guseup least 18 6 years; therefore, his user age is 24,
as 18 years which equates to 18+.
Joe is 9, he said he entered a date of
User age = at birth which made him 18 when profile
Don’t know 18+ Under 13 AN 10893 at;set up g was set up. We don’t know how long he
L el el least 18 has been on the platform, so we assume
user age is at least 18.
Joe is 15, he said he entered a date of
User age = at birth which made him 18 when profile
Don’t know 18+ 13-17 Assume DOB at set up & was set up. We don’t know how long he

has been on the platform, so we assume
user age is at least 18.




Scenario 4 - Children who did not know what DOB they entered at set up

Length of time on

profile

DOB at set up (Q8a)

Actual age of child

Assumption

USER AGE

Example

Scenario 4 (1)

Child cannot have put

Joe is 9, he doesn’t remember what DOB

Scenario 4 (2)

Scenario 4 (3)

Scenario 4 (4)

Don’t under 13 as their DOB at U " e e i
setu .Thereore, ser a e:at e used at set up. Ae's been on e.
Less than a year know/Don’t Under 13 assume fhe utfa 013 8 platform for 0 years, therefore, assuming
b y putage 1. least 13 he had to enter 13 as DOB, his user age is
remembper Assumefllength of time at least 13.
on profile as 0 years.
Don’t User age = actual Djoogls 15, he doesn’t remember what.
] e used at set up, so we assume it
, Assume length of time X i
Less than a year know/Don t 13-17 fil 0 age p|us |ength of matches his actual age (as he is over 13).
b on projiie as U years q fil He's been on the platform for 0 years;
rememboer time on profile therefore, we assume his user age is 15.
Don’t User age = Joe is 9, he doesn’t remember what DOB
_ I he used at set up, but we assume at least
Between 1-5 e BeT Under 13 Assume they put DOB 13 (assume minimum 15, e's beer o the platarmior
years as 13 at set up. 13) plus length of time 3 years; therefore, his user age is at least
remember on profile G
1) If calculation makes child under 13 at set up
e.g. Joe is 15, he doesn’t remember what DOB
_ he used at set up.
1) User ag,e '_ L He’s been on the platform for 4 years;
(assume minimum therefore, he would have been 11 when he
Don’t 1) Assume they put 13) plus length of time signed up, so would have had to enter DOB as
Between 1-5 , DOB as 13 at set up on profile 13. Add length of time to this (13+4) which
knOW/Don t 13-17 meant he had a user age of 17.
years 2) Assume they put 2) User age = actual 2) If calculation makes child over 13 at set up
remember actual age at set up age/age at set up plus e.g. Joe is 15, he doesn’t remember what DOB

length of time on
profile

he used at set up. He’s been on the platform
for 2 years; therefore, he would have been 13
when he signed up. Add length of time to this
(13+2) which meant he had a user age of 15
(same as actual age).




Scenario 4 - Children who did not know what DOB they entered at set up

Scenario 4 (5)

Scenario 4 (6)

Scenario 4 (7)

Scenario 4 (8)

Length of timeon  DOB atsetup (Q8a)  Actual age of child Assumption USER AGE Example
profile
h User age = Joe is 9, he doesn’t remember what DOB
0 Assume they put DOB ,
Don’t , as 13 at)_:ept up. ) 1'3 (assume. he used at set up, so we assume 13. He's
6+ years know/Don’t Under 13 Assumne length of time minimum for sign been on the platform for 6 years;
remember on profile as 6 years up) plus length of A o o A
time on profile '
h Lser age = Joe is 15, he doesn’t remember what
’ Assume they put DOB ,
Don't , as 13 at)slept up. ] ]‘-3 (assume DOB' he used at set up, so we assume 13.
6+ years know/Don’t 13-17 Assume length of time minimum 13) plus He’s been on the platform for 6 years;
remember on profi 6 Iength of time on Therefore, his user age is 19,
projile as 6 years fil which equates to 18+.
proriie
Don’t Excluded as we
don’t have enough
7’ 7’
Don’t know know/Don’t Under 13 e
remember age calculation
Don’t Excluded as we
don’t have enough
Don’t know know/Don’t 13-17 . . g
information for user
remember

age calculation




Scenario 5 - Children who changed their DOB* since setting it up to their

actual age

Scenario 5 (1)

Scenario 5 (2)

match actual age

age

DOB once changed Actual age of child Assumption USER AGE Example
. Joe is 9, he changed the DOB on his profile to his actual age
DOB changed to Under 13 ?;S%Zegz?tﬁvz:dlef User age = 13 (which we understand may not be possible due to minimum
match actual age y 13 ge = age requirements). As the profile cannot be under 13, we
assumed user age is 13.
DOB changed to 13-17 User age = actual Joe is 15, he changed the DOB on his profile to his actual age.

Therefore, his user age is now 15.

Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

Scenario 6 (1)

Changed DOB so
profile age is 10-
12

Under 13

Assume DOB now is 13
as they can’t be under
13

User age =13

Joe is 9, he changed the DOB on his profile to 11. As the profile
cannot be under 13, we assumed user age is now 13.

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

Scenario 6 (2)

Scenario 6 (3)

Scenario 6 (4)

Scenario 6 (5)

DOB once changed Actual age of child Assumption USER AGE Example
Changed DOB so User age = new loe 5.9, he chansed the DOB o h e to be 14 ]
- . oe is 9, he changed the DOB on his profile to be 14. Now his
profile age is 13- Under 13 age a;]fter DOB user age is 14,
17 change
Changed DOB so User age = new e chansed th e o )
. . Joe is 15, he changed the DOB on his profile to be 16. Now his
profile age is 13- 13-17 age z:]fter DOB user age is 16,
17 change
User age = new
Changed DOB so A”f’m?’ DOB after : Joe is 9, he changed the DOB on his profile to be 18. Now his
. ) Under 13 changing it makes them age after DOB Lseragelis 18
profile age is 18+ at least 18 years change g :
User age = new
Changed DOB so Assume DOB after Joe is 15, he changed the DOB on his profile to be 18. Now his
. ) 13-17 changing it makes them age after DOB :
profile age is 18+ i e S e user age is 18.

change

*Length of time not required for user age calculation for those that have changed their DOB




Scenario 6 - Children who changed their DOB* since setting it up to
another age that is not their actual age

DOB once changed Actual age of child Assumption USER AGE Example
Changed DOB — Excluded as we
. Don’t don’t have enough
Scenario 6 (6) know/Don’t Under 13 information for user
remember (Q7) age calculation
Changed DOB — Excluded as we
: Don’t don’t have enough
Scenario 6 (7) know/Don’t 13-17 information for user
remember (Q7) age calculation

Scenario 7 - Children who changed their DOB* since setting it up to another
age that is not their actual age but does not remember or does not want to
say what age it was changed to

Scenario 7 (1)

Changed DOB —

Excluded as we

Scenario 7 (2)

*Length of time not required for user age calculation for those that have changed their DOB

Don't don’t have enough
know/Prefer not bneer 1 information for user
to say (Q6) age calculation

Changed DOB — Excluded as we
Don’t 13-17 don’t have enough
know/Prefer not information for user

to say (Q6) age calculation




	User ages calculation Scenario mapping
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13
	Slide Number 14
	Slide Number 15

